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public static string ProcessChangingMoneyl(string instr) =>
TestTools.Process(instr, (Func<long,long>) ChangingMoneyl);
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e Algorithm Function : ChangingMoneyl
e Process Function : ProcessChangingMoneyl

e Test Function : ChangingMoney1Test

public static long ChangingMoneyl(long money)

{
// your code here
return @;

public static string ProcessChangingMoneyl(string instr) =>
TestTools.Process(instr, (Func<long,long>) ChangingMoneyl);

[TestMethod(), Timeout(10ee)]
[DeploymentItem(@"TestData", "A4 TestData")]

public void ChangingMoneylTest()
{

TestTools.RunLocalTest("A4", Program.ProcessChangingMoneyl, "TD1");

}
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e Algorithm Function : MaximizingLoot2

e Process Function : ProcessMaximizinglLoot2

e Test Function : MaximizingLoot2Test

public static long MaximizinglLoot2(
long capacity, long[] weights, long[] values)

{

// your code here
return @;

public static string ProcessMaximizingloot2(string instr) =>
TestTools.Process(instr,
(Func<long, long[], long[], long>) MaximizinglLoot2);

[TestMethod(), Timeout(10ee)]
[DeploymentItem(@"TestData", "A4 TestData")]

public void MaximizinglLoot2Test()

{
¥

TestTools.RunLocalTest("A4", Program.ProcessMaximizinglLoot2, "TD2");
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e Algorithm Function : MaximizingOnlineAdRevenue3
e Process Function : ProcessMaximizingOnlineAdRevenue3

e Test Function : MaximizingOnlineAdRevenue3Test

public static long MaximizingOnlineAdRevenue3(long slotCount,
long[] adRevenue, long[] averageDailyClick)

{

// your code here
return @;

public static string ProcessMaximizingOnlineAdRevenue3(string instr) =>
TestTools.Process(instr,
(Func<long, long[], long[], long>) MaximizingOnlineAdRevenue3);

[TestMethod(), Timeout(10ee)]
[DeploymentItem(@"TestData", "A4 TestData")]

public void MaximizingOnlineAdRevenue3Test()

{
¥

TestTools.RunLocalTest("A4", Program.ProcessMaximizingOnlineAdRevenue3, "TD3");
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e Algorithm Function : CollectingSignatures4

e Process Function : ProcessCollectingSignatures4

e Test Function : ProcessCollectingSignatures4Test

public static long CollectingSignatures4(long tenantCount,
long[] startTimes, long[] endTimes)

{

// your code here
return @;

public static string ProcessCollectingSignatures4(string instr) =>

TestTools.Process(instr,
(Func<long, long[], long[], long>)CollectingSignatures4);



[TestMethod(), Timeout(10ee)]
[DeploymentItem(@"TestData", "Ad TestData")]

references | auleh Eetemadi, 1 day ago | 1 author, 1 change

public v01d ProcessCollectingSignaturesaTest()

{

TestTools.RunLocalTest("A4", Program.ProcessCollectingSignatures4, "TD4");
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¢ Algorithm Function : MaximizeNumberOfPrizePlaces5
e Process Function : ProcessMaximizeNumberOfPrizePlaces5

o Test Function : MaximizeNumberOfPrizePlaces5Test

public static long[] MaximizeNumberofPrizePlaces5(long n)

{

// your code here
return new long[] { @ };

public static string ProcessMaximizeNumberOfPrizePlaces5(string instr) =>
TestTools.Process(instr, (Func<long, long[]>) MaximizeNumberOfPrizePlaces5);

[TestMethod(), Timeout(10ee)]
[DeploymentItem(@"TestData", "A4 TestData")]

public void MaximizeNumberOfPrizePlaces5Test()

{

TestTools.RunLocalTest("A4", Program.ProcessMaximizeNumberOfPrizePlaces5, "TD5");
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LARGESTNUMBER (Digits) :
answer <+ empty string
while Digits is not empty:
maxDigit < —oo
for digit in Digits:
if digit > maxDigit:
maxDigit < digit
append maxDigit to answer
remove maxDigit from Digits
return answer
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e Algorithm Function : MaximizeSalary6
e Process Function : ProcessMaximizeSalary6

e Test Function : MaximizeSalary6Test

public static string MaximizeSalaryé(long n, long[] numbers)

{

//write your code here
return "0";



public static string ProcessMaximizeSalary6(string instr) =>
TestTools.Process(instr, MaximizeSalaryé6);

[TestMethod(), Timeout(10ee)]
[DeploymentItem(@"TestData", "A4 TestData")]

refere eh Eetemadi, 1 day ago | 1 author, 1 nge

public void MaximizeSaléryﬁTest()
{

TestTools.RunLocalTest("A4", Program.ProcessMaximizeSalarye, "TD6");
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